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EXVE2TEN SRy

4
3x2 + Ox
6x” — 36x

56x° — 407x> + 49x + 392

32x° — 212%° — 111x+ 189

X — 6x° + 14x — 24

H #A:

2% — 4x

X =47 +5c—6

5x> — 25x

36x° + 139%° — 44x — 96

www.snowmath.com

o



https://www.snowmath.com

HEws

=R 2 A o i

W44

3x% + Ox
3x(x+ 3)

6x” — 36x
6x(x — 6)

56x° — 407x> + 49x + 392
(7x— 8)(x— 7)(8&x + 7)

32x° — 212%° — 111x+ 189
(4x — 3)(x— 7)(8x + 9)

X = 6 + 14x— 24
(x— 4)(* —2x + 6)

H 1.
20 — 4x
2x(x — 2)
X =4 +5x—6

(x—3)(% —x+2)

x2 +Xx
x(x+ 1)

5x% — 25x
Sx(x—5)

36x° + 139%° — 44x — 96
(9x — 8)(x + 4)(dx + 3)
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